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Answer all questions in sections A, B and C.

Questions in Section A and C are set in English.

Questions in Section B are set in Russian.

Answer the questions in the spaces provided

— there may be more space than you need.

® You must not use a dictionary, but in some questions translations are provided for
a few words that were not included in the Specification vocabulary lists.
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® Check your answers if you have time at the end.
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SECTION A

Answer ALL questions. Write your answers in the spaces provided.

Some questions must be answered with a cross in a box X. If you change your mind about an

answer, put a line through the box $< and then mark your new answer with a cross [X.

Holidays

Read these opinions about holidays.

Baca: A oueHb No6MI0 KaHMKYNbI B KEMMNUHTe. B fepeBHe TUXO 1 KpacKBo.

HuHa: 35710 xopowo, HO A NpeanoynTato ropod. Kutb B roCTUHULIE B rOpOAe

NHTEPECHO.
CoHa: Moé nobumoe xo66m — nnaBaHme. B 3Tom rogy s xouy otabixaTb Ha
nnsaxe. -
MNérp: Y meHA ecTb MoTOUMKI. MHe HpaBUTCA e3aUTb No Poccrm ¢ apy3bamu. °
|
Who says what about their holidays? Enter either Vasya, Nina, Sonya or Pyotr.
You can use each person more than once.
Example: ... S onya likes swimming.
(6 IR likes travelling around Russia.
(D) o prefers staying in a town.
() likes camping.
() thinks staying in a hotel is interesting.
() I wants to go to a beach.
(F) e owns a motorbike.
(Total for Question 1 = 6 marks)
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Friends
2 Read this extract from Ksenia’s blog.

—

A — KceHs, a moa nyywana nogpyra — Mawa. Y Heé AnnHHble CBeTNble
BOJIOCbI, KaK Y MeHA. Mbl BCTpeyaemca Kaxkabl eHb. Mala oyeHb
cepbésHan, 1 Mbl IOO6MM ClTyLIaTb My3bIKY 1 YATaTb XKypHaJibl BMeCTe
B cBo6ogHOe BpemsA. CerofHA — eé fieHb POXKAEHNA, N Mbl Kyluaem eé
nobumoe 6n080 foma — nuuLy!

O

Complete the gap in each sentence using a word from the box below. There are more
words than gaps.

« o]

DO NOT WRITE IN THIS AREA

a restaurant books day friend funny home long

magazines serious short sister week

SOOOOOCK
OO
00 %0 %% %0 %%

Example: Masha is Ksenia’s fr'lend ..................................... .

(@) Masha’'s NairiS ..o, .
(1)

(b) They see each other every ... .
(1)

(€) Mash@ iS VEIY ... .
(1)

. DONOTWRITEINTH

(d) Masha and Ksenia enjoy reading ... .
(1)

(e) They are celebrating Masha’s birthday at ... .
(1)

(Total for Question 2 = 5 marks)

DO NOT WRITE IN THIS AREA
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Wherel live

3 (a) Read what Sasha writes about where he lives.

—

MeHsa 30ByT Cala, MOA cemMbs XUBET B epeBHe Ha BocToke Poccuu. [lepeBHsA
oueHb 3enéHas. lHorga mbl nrpaem n cobupaem rpubol B necy, a 3MMoi Mbl
KaTtaemca Ha nbrkax. OgHaKo 3gecb Horaa CKyyHo. Mano nogen KMBET B
[AEepeBHe, 'Y MEHSA HeT Apy3en 34echb.

|
Answer the following questions in English. You do not need to write in full
sentences.

“«on|q|

(i) Where is Sasha’s village?

(1)
(i) What does he do there? Give one example.

(1)
(iii) Why does Sasha find his village boring? Give one reason.

(1)

OIS

o
\\\'
&
\\
&
5
poStimir 99
DI Io0el

vava¥ ®
0%

s
55

A
MY TR
YauY SiHL

% s
)

55

S

e
S
B

D905 e%%

J

R0 o
P 7 2 6 5 9 A 0 4 1 6



(b) Sasha continues.

—

AlcHo, uTO B ByayLleM A Xouy XKUTb B 60MbLIOM ropoge, rae 6yaet MHOro
MarasvHOB 1 pecTopaHoB. Ho ecTb U MUHYC. ByeT TPpyAHO XXWTb OYEHb faneKo oT
Mambl 1 Nanbl.

|
Glossary

fAcHo - It is clear
MUHYc — drawback

“«on|q]

| DONOTWRIEINTHISAREA

(i) What does Sasha write about the town where he wants to live in the future?
Give one detail.

(Total for Question 3 = 5 marks)
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Maza3suH «benbie manoyku» by E. Nesterina
4 Read the extract below.

The author describes a boy, Andzhey and his grandfather, Vasiliy.

~

Vs

Jenywka Bacunuin wén no gopore. Y Hero B oAHOM pyke 6bin 601bLION YeMOaH, a
B APYron — BHYK AHAXKen. AHIXKen Xun C AefyLW KON B JepeBHe, @ POAUTEN XNIN
B ropopge, rae oHu pabotanu. B gepeBHe AHZXKeW rynan no necy, nnasan B XONIOQHOM
peKe 1 XOA4WN B LWKOJY.

Bcé xopolwuo 6b110 ¢ yué6o1t: B Knacce 6bi/10 TONbKO YeTblipe YUEeHMKa, U yYnuTenbHMLa
6b11a fo6pasn. Ho wkona 6bi1a TONbKO ANA MasleHbKUX AeTei. AHLXelo 6bino
OAWHHAALATD JIET, U HY>KHO ObINIO NCKaTb HOBYIO LLKOJY.

Put a cross X in the correct box.

Example: Grandfather Vasiliy was walking...

[J | A around the supermarket.
X | B along the road.

] | € inthe park.

L1 | D inthe forest.

(i) Grandfather Vasiliy was carrying...

— [J | A arucksack.
— [] | B asuitcase.
— [] | € abook.
— [] | D apresent.
(ii) In the town worked Andzhey’s...
— [J | A grandmother.
— [] | B brother.
— [] | € sisters.
— L[] | D parents.
] 6
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(iii) Andzhey swam in the...

river.

lake.

(N

swimming pool.

A
B
C
D

sea.

(iv) Andzhey’s teacher was...

O

old.

 DONOTWRITEINTHISAREA
O

O

young.

O

strict.

O

O n W >

kind.

(v) Andzhey needed to...

O

improve his grades.

complete his homework.

find a new school.

0
0
0

O n W >

find a job.

(Total for Question 4 = 5 marks)
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A new theatre

5 Read the following advertisement for a new theatre.

—

CKopo B cToNuLe 6yAeT HOBbIV TeATp, FAe MOXHO OyfleT CMOTPeTb pa3HOObpasHble
CMEeKTaKNM 1 My3blKaJibHble MEPONpPUATHA. DTOT TeaTp Kpacreee 1 bonblue, Yem

Lpyrue B ropoge, n aTMochepa B HEM OyaeT nyyule.

OTKpbITUE TeaTpa 3ariaHNPOBAHO Ha crefyowmii mecau. NepBbiMy cnekTaknaMu

OyayT HOBble onepbl 1 N3BEeCTHble HGaneTobl. Bcé 6yaeT rpaHano3HoO!

Hawa pekomeHpaLma — 3akasbliBaliTe 6UneTbl B Kacce TeaTpa. Tak MOXXHO BblOpaTb -
nyywme mMecTa B TeaTpe, 1 buneTbl He Takne foporve, Kak yepes TypareHTCTBO. %

|
Glossary
pa3Hoobpa3sHble - various
OTtkpbiTne — Opening

3annaHnpoBaHo — planned
rpaHguosHo — grand

Answer the following questions in English.

(a) Give one example of how the new theatre compares to others.

(1)
(b) What will be the first performances? Give one example.

(1)
(c) What suggestion does the writer give to find the cheapest tickets?

(1)

(Total for Question 5 = 3 marks)
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DO NOTWRITE INTHIS AREA

~ DO NOTWRITE INTHIS AREA

DO NOT WRITE INTHIS AREA

Om nepeoezo nuya by N. Gevorkyan
6 Read the extract below. The author describes her lifestyle.

—

Al 06bIYHO He 0b6epato, y MeHA HeT BpemeHW. [IHEM A cTapatocb ecTb GPYKTbl AN NMUTb
Kedup, Korga nonyyaercs. A Korga He MOry, A NPeAnoYNTalo HAYEro He ecTb.

Al 3aHMMalOCb CMOPTOM TPMALATE MUHYT MO yTpam. Boobuie, s 300poBbIi YENOBEK, 1

A He xouy ToncTeTb. Ha gaue, roe mbl ceiiyac »KMBEM, eCcTb He6osbLION 6acceiH. MHe
6onblue BCEro HPaBUTCA TaM KynaTbCs.

Kak nokasan onbIT, Iyyule He 6pocaTtb cnopT. Ecnm Tbl 6Gpocmniub — cpasy Hago r
MoKynaTb OAeXAay Ha HECKONIbKO pa3mepoB 6osblue. e

|
Glossary
CTapatochb - try
Kedup - kefir (@ yoghurt-like drink)

nonyuaetca — it works out
ToncrteTb — to put on weight

Answer the following questions in English. You do not need to write in full sentences.

(@) Why does the author usually skip lunch?

(1)
(b) When does the author do sport?

(1)
(c) What is the author’s favourite way of staying active?

(1)
(d) What would she need to do if she gave up sport?

(1)

(Total for Question 6 = 4 marks)

TOTAL FOR SECTION A =28 MARKS
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SECTION B

CnopTUBHbIN AEHDb B LUKONeE o

O

7 Tol unTaewsb 3Ty MHGOPMALMIO Ha LKONbHOM Beb-canTe. g
s

=

= o

Hoporuve yyeHunku! B nATHMLY y Hac B WwKone 6yaeT CNopTMBHbLIN AeHb. Mbl 3Haem, UTo =
BCe B LWKONe ob6oxatoT cnopt! Bcé 6yaeT HauMHaTbCA NOCNe NepBOro YpokKa, B AeCATb e
4acoB yTpa. vl

=
Mbl npeanaraem MHOro BMAOB criopTa: ¢yTO0N, aTNETUKY 1 Aake TeHHUC. He 2
3abbiBaliTe HageTb Bawwm GyTOONKHY, LIOPTbI U KPOCCOBKM! B
Mbl TakXe npurnaliaem Balnx poguTenen CMOTpeTb BCe COObITUA U - S
doTorpadumpoBaTtb Bac, Koraa Mol 6ygem gaBatb Mefanu yywinm CopTCMeHam B : S5

KOHLe aHA. |x
MpouunTan TeKkcT. [NlocTaBb NponyLyeHHble C/I0Ba B HY>KHble MecTa. BHumaHue! He Bce f"’
CJ10Ba HYXHbl. S
BEUEPOM noobAaTt MaLUIVHY MO>KHO Henb3A HeHaBuaAT =
opexnay nonyvaTb npopasatb AATHIALY cybb6oty yTpOMm
Mpumep : CMOPTUBHDIA A€HD GYAET B ..o ALY . . s
(@) BCE YUEHIKM .o cnopr. ST
(1) g
(b) CnOPTUBHDBIN BEHD HAUMHAGTCSA ..o . S
(1 S
() YUYeHMKM He AOMKHDBI 320bIBATD CMIOPTUBHYIO ..o . S5
(d) POAMTEAAM oo CMOTpeTb. S
(1) 5
(€) JIyULINE YUEHVIKMN OYIYT oo mezanu.
(1)
(Total for Question 7 = 5 marks) S
s ./k
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B JlaTBMM KaK MHOCTPaHHbIE A3bIKNA A N3YyYalo aHIMUNCKNIA 1 HemeuKuin. Mou yuntensa
CKasanu, 4to yuéba 3a rpaHuLen — OTJINYHbBINA OMbIT.

XX

i

LLikona nHocTpaHHbIX A3bIKOB 5

8 [lpouunTai 3TO 3NeKTPOHHOE NUCbMO OT Tonu. d\
&cz\

K o

JleTom y MeHs 6blna BO3MOXKHOCTb YUUTbCA B LUKONIE MHOCTPAHHDBIX A3bIKOB B AHITINM. g\

A nobnto n3yyatb A3bIKK. [JNA MEHA 3TO BaXXHO, HO COBCEM He nerko! cme

\z/\

K
XX

VAUV SIHL

Bnarogaps ypokam B 6pUTaHCKOW LLKOJIe CeYac MO aHTNACKMIA nyyle. 1 NoHMMalo
6onblue, 'y MEHA MHOTFO aHIMIMACKUX ApYy3ei. OgHAKO A He YMe rOBOPUTb OYEHD
ObICTPO, KaK OHW.

|
Glossary
BO3MOKHOCTb — possibility

Bnaropgapsa - Thanks to
6puTaHcKom — British

XK
XX

«on|q|
XX

MNMocTaBb KpecTuk X .

Mpumep: 1M netom Tona yumnnca B...

L1 | A Poccum.
X | B Anrun.
L] | € Wranun.
L] | D Wcnanumn.

(i) OH pymaert, uTo M3yyeHune A3bIKOB...

N

6ecnonesHo.

CKYYHO.
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( )
(ii) B NatBun Tona nsyuvaer...
<< .
o [J | A 0AguH MHOCTPaHHbIN A3bIK.
<
2] [J | B [BauMHOCTpaHHbIX A3bIKA.
b
; [J | € Tpu nHOCTpaHHbIX A3bIKA.
L
- [J | D ueTbipe MHOCTPaHHbLIX A3bIKA.
=
=
"5 (iii) Ero yuntens gymatoT, UTO yumTbCA B AHIIMM —...
=
8 0 | A poporo ctour.
[J | B xopowas nges.
[0 | € nnoxasangen.
s [0 | D cnoxHo opraH13oBaTh.
/< f (iv) Tona gpymaert, 4To OH cenyvac roBOPUT NO-aHMINNCKMN. ..
cad
;§ 3 [0 | A yxacHo.
i [0 | B nnoxo.
E : O | C nyuwe.
g [1 | D omunuHo.
e
g (v) Tona gymaert, uto ero apy3ba B AHIINN FOBOPAT. ..
§ § 0 | A cTpaHHo.
5 ] | B rpomko.
e [0 | C megneHHo.
55555 [J | D 6bictpo.
z
5:': 2 (Total for Question 8 = 5 marks)
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Okpyxalowas cpega

9 Tbl unTaelwb 3TN MHEHMA 06 OKpYXKaloLlen cpege.

Glo

Bagum:

AHSA:

IOpuia:

CBerta:

Al 6onblue e3Xy Ha aBTObOYyCe unn meTpo. Camana 6onbLuas
3KoJiornyeckas npobseMa — 3To KOIMYeCTBO aBTOMobOUen B ropoae.
Kaxkgbln rog MHOro TMrpoB ymupatot B Cnbmpu. BaxkHo nomoraTb.
CnepoBatenbHO, s paboTana BOSIOHTEPOM B 611aroTBOPUTENIbHOM
opraHu3auun, KoTopas 3aluaeT UX CyLecTBOBaHME.

B ropope nepepabaTtbiBatoT 6ymary 1 cTeko, HO 3To BCE. B wKone Ham
HY>KHbl yULLNE YPOKM 06 SKONMOrnK, 1 MONUTUKIN AOJTXKHbI AenaTb
6onbLue.

XoTA y MeHA eCTb MallUHa, A AyMalo, YTO Mbl UCMOMIb3YeM CJILLKOM
MHOTO 3Hepruu. fl Bcerga BbIKJl0UYalo CBET, KOrAa BbIXOXKY M3 KOMHATbI.

«0»[4[

———————

ssary

CnepoBatenbHo — Consequently
CyllecTBOBaHMe — existence
cTeKkno - glass

14

Kro uto gymaet? MNuwwn: Bagum, Ansa, Opuin nnn Ceera.

Mpumep: .. .. .

.................................................................................. OYMa€T, YTO BaXHO NMOMOraTb

6naroTBOpUTENbHbIM OpPraHM3aUnaAM.

............................................................... XOYeT NCnosib30BaTb MeHbLUE SHEPrnun.

AAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAA AYMAET, UTo HaZlo rOBOPUTb 06 3KONIOTrK

............................................................... npeanoYnTaeT ropofCKo TPAHCMOPT.

............................................................... CYNTAET, YTO HaAO AyMaTb 60nblLUE O XXNUBOTHbIX.

............................................................... OyMaeT, YTO €CTb CJINWKOM MHOTO MallUuH.

(Total for Question 9 = 5 marks)

TOTAL FOR SECTION B = 15 MARKS
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DO NOT WRITE IN THIS AREA
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SECTION C
Translation

10 Translate this passage into English.

Mos wkona 6onbluasa n coBpemeHHasn. MHe oyeHb HpaBUTCA MaTemMaTuKa. A 6yay n3yyatb
eé B criegylowiem rogy. 510 NONyNAPHbIA NPeaMeT, U A AyMalo, YTO MOV YUYUTESb YMHbIN.

(Total for Question 10 = 7 marks)

TOTAL FOR SECTION C =7 MARKS

TOTAL FOR PAPER = 50 MARKS
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Source information:

BLANK PAGE

MarasuH «benble Tanouku» by E. Nesterina
https://www.litmir.me/br/?b=64410&p=1

Ot nepBoro nuua by N. Gevorkyan
\http://www.lib.ru/ MEMUARY/PUTIN/razgowor.txt )
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